

ESEMPIO

$$\int |1-x^2| dx = () \quad 1-x^2 \geq 0$$

1/3

$$|1-x^2| = \begin{cases} 1-x^2 & \text{se } -1 \leq x < 1 \\ x^2-1 & \text{se } x < -1 \\ x^2-1 & \text{se } x \geq 1 \end{cases}$$
$$= () + \begin{cases} x - \frac{x^3}{3} & \text{se } -1 \leq x < 1 \\ \frac{x^3}{3} - x & \text{se } x < -1 \\ \frac{x^3}{3} - x & \text{se } x \geq 1 \end{cases}$$

PAG 410 m 254

$$\int |2x-1| dx = () \quad 2x-1 \geq 0 \quad x \geq \frac{1}{2}$$

$$() = \begin{cases} \int (2x-1) dx & \text{se } x \geq \frac{1}{2} \\ \int (1-2x) dx & \text{se } x < \frac{1}{2} \end{cases}$$

$$= C + \begin{cases} \frac{2x^2}{2} - x & \text{se } x \geq \frac{1}{2} \\ x - 2 \frac{x^2}{2} & \text{se } x < \frac{1}{2} \end{cases}$$

$$\begin{aligned} & \frac{1}{2} (2x-1) |2x-1| \\ & \frac{1}{2} (2x-1)^2 \quad x \geq \frac{1}{2} \\ & - \frac{1}{2} (2x-1)^2 \quad x < \frac{1}{2} \end{aligned}$$

N324 PAG 418

$$\int x e^{3x+4} dx = \int x e^{3x} e^4 dx = \frac{e^4}{3} \int 3x e^{3x} dx =$$

$$3x=t \quad x=\frac{t}{3} \quad dx=\frac{1}{3} dt$$

$$\frac{e^4}{3} \int t e^t \frac{1}{3} dt = \frac{e^4}{9} \int t e^t dt = \frac{e^4}{9} \left[t e^t - \int e^t dt \right]$$

=

$$\int x e^{3x+4} dx \quad 3x+4=t \quad x=\frac{t}{3}-\frac{4}{3}$$

$$dx=\frac{1}{3} dt$$

$$= \int \left(\frac{t}{3}-\frac{4}{3} \right) e^t \frac{1}{3} dt =$$

$$\frac{1}{9} \int t e^t dt - \frac{4}{9} \int e^t dt = \dots$$

N317 PAG 417

$$\int \frac{x+5}{\sqrt{x-3}} dx = \int \frac{x}{\sqrt{x-3}} dx + 5 \int \frac{1}{\sqrt{x-3}} dx =$$

$$\int \frac{x}{\sqrt{x-3}} dx + 5 \int (x-3)^{-\frac{1}{2}} d(x-3) = (\dots)$$

$$\sqrt{x-3}=t \quad x-3=t^2 \quad dx=2t dt$$

$$x=t^2+3$$

$$\int \frac{x}{\sqrt{x-3}} dx = \int \frac{(t^2+3) 2t}{t} dt = 2 \int (t^2+3) dt = 2 \left(\frac{t^3}{3} + 3t \right) + C$$

$$(\dots) = \frac{2}{3} (x-3)^{\frac{3}{2}} + 6 (x-3)^{\frac{1}{2}} + C_1 + 5 \frac{1}{\frac{1}{2}} (x-3)^{\frac{1}{2}} + C_2$$

$$\frac{2}{3} \sqrt{(x-3)} (x-3) + 16 \sqrt{x-3} + K =$$

$$= 2 \sqrt{x-3} \left[\frac{1}{3} (x-3) + 8 \right] + K$$

N234 PAG 407

$$\int \frac{10x-16}{x(x-2)(x-4)} dx \quad \frac{A}{x} + \frac{B}{x-2} + \frac{C}{x-4} = \frac{10x-16}{x(x-2)(x-4)}$$

N323

$$\int \frac{x^4 - 4x^3}{x^2 - 2x + 1} dx =$$

$$\begin{array}{r|l} x^4 - 4x^3 + 0x^2 + 0x + 0 & x^2 - 2x + 1 \\ \underline{x^4 - 2x^3 + x^2} & \\ // -2x^3 - x^2 + 0x + 0 & \\ \underline{-2x^3 + 4x^2 - 2x} & \\ // -5x^2 + 2x + 0 & \\ \underline{-5x^2 + 10x - 5} & \\ // -8x + 5 & \end{array}$$

$$= \int \left[(x^2 - 2x - 5) + \frac{-8x + 5}{x^2 - 2x + 1} \right] dx$$

$$\frac{x^3}{3} - \frac{2x^2}{2} - 5x + C_1 - \int \frac{8x - 5}{x^2 - 2x + 1} dx =$$

$$8x - 5 = (2x - 2) + 6x - 3$$

$$\int \frac{8x - 5}{x^2 - 2x + 1} dx = \int \frac{2x - 2}{x^2 - 2x + 1} dx + 3 \int \frac{2x - 1}{x^2 - 2x + 1} dx =$$

$$\ln|x^2 - 2x + 1| + 3 \int \frac{2x - 1 + 1}{(x - 1)^2} dx =$$

$$= \ln|x^2 - 2x + 1| + C_1 + 3 \left[\int \frac{2x - 2}{(x - 1)^2} dx + \int \frac{1}{(x - 1)^2} dx \right]$$

$$= 4 \ln|x - 1| - \frac{3}{x - 1} + C_1 =$$

$$= 8 \ln|x - 1| - \frac{3}{x - 1} + C_1$$

ES PAG 417 N 315

$$\int (\cos^3 x - \sin^3 x) dx = \int \frac{(\cos x - \sin x)(\cos^2 x + \sin x \cos x + \sin^2 x)}{(\cos x - \sin x)(1 + \sin x \cos x)} dx$$

$$= \int \cos^2 x \cdot \underbrace{\cos x}_{f'} dx - \int \sin^2 x \sin x dx$$

$$\sin x \cos^2 x - \int \sin x (2 \cos x \sin x) dx -$$